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131 a. MC=aTClag=2q + 10
set MC = P = 20
yields ¢* = 50

b. m = Pg — TC = 1000 — 800 = 200

m(q) = R(g) — C(g)

() Lump sum tax T m(q) = R(q) — C(q) — T

a_'”'=%_£_0=0 MR = MC, no change , ao Loy

og dg  9q os T 2%00 pon doy.
Proportional tax m(g) = (1 — )(R — C), «ta~ &= .SO.
éﬁq =(1 = t)(MR - MC) = (, MR = MC, no change
Tax per unit m(q) = R(q) — C(q) —tq , b t =2
9 . MR- MC— t=0

ogq

~ MR = MC +1t  qis changed—per unit tax does

affect output:
20 = ,29 +10 + >

‘134&‘7»:7—0 .
%:qo,ML‘MMMﬂ‘“m"’

2903



— [

148 a  TC = wg® — 10 + 100.

Ifw = §1, TC = ¢* — 10g + 100. S
MC=2-10 AC=g-10+ 1%
. q

In the long run, AC = MC
2% —10=¢g-10 + 29 ¢ =100, g =10
q

= output for typical mushroom producer.

b. Constant costs industry means that as new firms enter this low point of
average, total cost remains unchanged, resulting in a horizontal supply
curve at P = $10 (when g = 10, AC = $10). Thus, long-run equilibrium
P = $10 and Q = —1,000(10) + 40,000 = 30,000. There will be

30,000

= 3,000 firms.

c. Ifw=8$4 TC = 4¢* — 10g + 100

MC=8;-10  AC=4q-10+ 109
q

In the long run  AC = MC

8- 10 =4g — 10+ 190 2 =25 ¢ = 5.
q

Long-run equilibriﬁm price = low point of AC,

AC = 4g — 10 + 199 _ 20 _ 10 + 20 = $30
q

Thus, Q = —1,000(30) + 40,000 = 10,000.

There will be 10’;’00 — 2,000 firms.
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